

Pay Estimate Created Date: August 3, 2020

Progress Estimate Number 2		Contract ID Prime Contractor	200117-H04 Putz Construction, LL	Pay Period Start C Pay Period End		Original Contract Amoun Net Change Order Amoun Current Contract Amount	nt \$0.00
Approval Date							By User
August 3, 2020		Ge	nerated and Approved	(and should be cons	idered Draft) at t	he Project Office Level by	durrov1
August 3, 2020		Review	ed and Approved (and	should be considere	d Draft) at the R	esident Engineer Level by	wilkem1
August 5, 2020			Reviewed	d and Approved at the	Central Office (Controllers Office Level by	greggd1
Original Comp	letion Date	Current Comp	letion Date A	ctual Completion Da	ite %	of Current Contract Amou	nt Complete
March 1,	2021	March 1,	2021			22.29%	

No Milestones Exist for Contract

Contract Total Pa	ay For Estimate	No. 2					
			This Estimate	F	Previous	To Da	te
200117-H04 Contract Total Pa ems Paid This Es	Gross Iten Incentive Disincenti Liquidated Other Cor	l Damage ntract Adjustn	s \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$42,699.89 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$42,699.89	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	976.20 976.20
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3627	0020	6189916	MISC.Normal work adjustment factor	DLR	\$1.150	75,022.88	\$86,276.31
Project J9P3627	- Total						\$86,276.31
Overall - Total							\$86,276.31
Contract Adjustme lo Contract Adjustr	ments Exist on C	Contract					

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J9P3627		Job Order Contract for erosion control repairs	Various	VARIOUS	in various locations in the Southeast District

Totals by Job Numbers

J9P3627		This Estimate	Previous	To Date
Posted Item Pay		\$86,276.31	\$42,699.89	\$128,976.20
Gross Item Adjustments	ss Item Pav	\$0.00 \$86.276.31	\$0.00 \$42,699.89	\$0.00 \$128.976.20
	33 item i ay	<i>400,270.01</i>	φ 1 2,000.00	\$120,370.20
Incentive		\$0.00	\$0.00	\$0.00
Disincentive		\$0.00	\$0.00	\$0.00
Liquidated Damages		\$0.00	\$0.00	\$0.00
Other Contract Adjustmen	its	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Q	uantities	and Valu	es are b	ased on I	Report Generated date and can differ from the posted an	nount at the	time the	Estimate w	as Gene	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200117-H04	J9P3627	0001	0010	6189916	MISC.Nighttime work adjustment factor	25,000.00	0.00	25,000.00	DLR	0.00	\$1.20	\$0.00
		0001	0020	6189916	MISC.Normal work adjustment factor	450,000.00	0.00	450,000.00	DLR	112,153.22	\$1.15	\$128,976.20
		0001	0030	6189916	MISC.Weekend work adjustment factor	25,000.00	0.00	25,000.00	DLR	0.00	\$1.25	\$0.00
		0001	9000	6189916	MISC.Liquidated Damages	0.00			DLR	0.00	(\$1.00)	\$0.00
		0001	9100	6189916	MISC.Additional Items	0.00			DLR	0.00	\$1.00	\$0.00
		0001	9200	6189902	MISC.High Priority Repair	0.00			EA	0.00	\$2,400.00	\$0.00
	Project J	9P3627 - To	tal Value	Posted to	Date as of Report Generated Date							\$128,976.20
200117-H04 Ove	rall - Total	Value Post	ed to Dat	te as of Rep	port Generated Date							\$128,976.20



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

	J9P362	1										
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comment
0020	6189916	MISC.	7/16/20	8/3/20	17,808.16	DLR	Rte. 67 Northbound Log mile 16.634 Erosion Repair	16.321		16.461		
							Furnish & Place Type 2 Rock Blanket \$30 Ton x 434.45 = \$13033.50					
							Permanent Erosion Control Geotextile \$2 SY X 407.33 SY = \$814.66					
							Modified Linear Grading, Class 2 \$550 X 7.2 = \$3960					
							Total \$17808.16					
			7/20/20	8/3/20	14,182.42	DLR	Rte. 67 Northbound Log mile 16.634 Erosion Repair	16.321		16.461		
							Furnish & Place Type 2 Rock Blanket \$30 Ton x 444.94 = \$13348.20					
							Permanent Erosion Control Geotextile \$2 SY X 417.11 SY = \$834.22					
							Total \$14182.42					
			7/21/20	8/3/20	19,723.40	DLR	Rte. 67 Northbound Log mile 16.634 Erosion Repair	16.321		16.461		
							Furnish & Place Type 2 Rock Blanket \$30 Ton x 618.78 = \$18563.40					
							Permanent Erosion Control Geotextile \$2 SY X 580 SY = \$1160					
			7/00/00	7/20/20	4 220 00	DLD	Total \$19723.40	40.045		46.004		
			1122120	7/30/20	1,320.00	DLK	Rte. 67 Northbound Modified Linear Grading Class 2	16.245		16.291		
							\$550 X 2.4 = \$1320 Total \$1320.00					
			7/27/20	8/3/20	19,098.50	DLR	Rte. 67 Northbound Log mile 17.509 Erosion Repair	17.415		17.409		
							Furnish & Place Type 2 Rock Blanket \$30 Ton x 526.73 = \$15801.90					
							Permanent Erosion Control Geotextile \$2 SY X 493.3SY = \$986.60					
							Modified Linear Grading Class 2 \$550 X 4.2 = \$2310.00					
							Total \$19098.50					
			7/28/20	8/3/20	1,990.40	DLR	Rte. 67 Northbound Log mile 17.509 Erosion Repair	17.415		17.409		
							Furnish & Place Type 2 Rock Blanket \$30 Ton x 62.51 = \$1875.30					
							Permanent Erosion Control Geotextile \$2 SY X 57.55 SY = \$115.10					
							Total \$1990.40					
			7/29/20	7/30/20	900.00	DLR	Rte. 67 Northbound Log mile 17.509 Erosion Repair	17.415		17.409		
							Item 6169902 Shoulder Closure (No encroachment)					
							\$900 Each x 1 = \$900.00					

The information below this line are details from Line Item agency views. No Agency View Details Exist



No Data Available